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INDEFINITE INTEGRALS - FOR COMPETITION

Solved Examples

1. Evaluate /cos 9zxdx

° Watch Video Solution

2. Evaluate /:os5 (%) sinzdzx

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hcDUhb2JzTUa
https://dl.doubtnut.com/l/_MMoN9PzzaOg0

1
3. Evaluate: /3—d:c
sin® x cos® z

° Watch Video Solution

,/tan:c
4, Evaluate: .

inzx cos 33

o Watch Video Solution

5. Evaluate:

/sin4 x cos’ zdzx

o Watch Video Solution

dr
6. Evaluate/,
sinx

o Watch Video Solution



https://dl.doubtnut.com/l/_sQsqIvrDfeYF
https://dl.doubtnut.com/l/_a87EldDi67Li
https://dl.doubtnut.com/l/_TSS30ClY5ink
https://dl.doubtnut.com/l/_ijBQxjMANLWC

7. Evaluate /sec6 xdx [Here power of sec x is even positive integer]

o Watch Video Solution

8. Evaluate :/:ot5 zdx

o Watch Video Solution

9, Evaluate: /:ot5 x cos ec*zdz

o Watch Video Solution

10. Evaluate: /:an?’ 2x. sec2zxdzx

o Watch Video Solution

11. Evaluate: fca,n4 xdx


https://dl.doubtnut.com/l/_V06Wjdd2Eojs
https://dl.doubtnut.com/l/_sOlYB1wgnq4J
https://dl.doubtnut.com/l/_d7zq3zRjrouo
https://dl.doubtnut.com/l/_DEBDpPIdh838
https://dl.doubtnut.com/l/_IwW0AbJn3Opa

° Watch Video Solution

12. Evaluate: /sec2(:c + a)dz

° Watch Video Solution

2
3 1
13. Evaluate: /%dac
(z+1)

o Watch Video Solution

¢z
14.Evaluate || ———— |d=zx
z1/2 _ 21/3

o Watch Video Solution

dzx

15. Evaluate/ -
Vi+z+ (1+z)3

o Watch Video Solution



https://dl.doubtnut.com/l/_IwW0AbJn3Opa
https://dl.doubtnut.com/l/_4SqCCSSCyIkT
https://dl.doubtnut.com/l/_msYO2QvE7xdc
https://dl.doubtnut.com/l/_0O00iDfFCBDd
https://dl.doubtnut.com/l/_1Az1b0v3Se68

16. Evaluate: / - z dx
(1+z)3 1+z

° Watch Video Solution

og(l + %)
17. Evaluate [—————dz

z(1+ x)

o Watch Video Solution

2z si — COs
18.Eva|uate:/l+ TonT ﬂEda:
z(1 — cosx)

° Watch Video Solution

3+ 2cosx
19. Evaluate: / 5 dx
(2 + 3cosx)

o Watch Video Solution



https://dl.doubtnut.com/l/_1Az1b0v3Se68
https://dl.doubtnut.com/l/_ZIlqESBanI3p
https://dl.doubtnut.com/l/_Oo9ggOAEfvd1
https://dl.doubtnut.com/l/_UPvxD2VSRdJY
https://dl.doubtnut.com/l/_LbjjCUBcTL8y
https://dl.doubtnut.com/l/_ynGgO5TQEbuG

20 / sin” @ dz is equal t
. z is equal to
(1 + cos2z)v1 + cos? z + costz

° Watch Video Solution

1
21. Evaluate:/ de, a #nm, n€ Z

sin® z sin(z + a)

° Watch Video Solution

2
1
22, Evaluate: / T dzx
23224 — 222 + 1

o Watch Video Solution

23. Evaluate for,m € N,

/(:v3m + 2™ + ™) (222™ + 3z™ + 6)1/mdaz, z > 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_ynGgO5TQEbuG
https://dl.doubtnut.com/l/_u5BxFtxXst4K
https://dl.doubtnut.com/l/_HX2O4dnKeEgd
https://dl.doubtnut.com/l/_t32q7oqmSxLQ

24. Evaluate: /(sin z)“®" [cos z cot z — log(sin x)smm] dzx

o Watch Video Solution

1
25. Evaluate: /
COs & + cos ecx

o Watch Video Solution

1+ logx)2

26. Evaluate: / dx

N2
1+ logz® "t + (logaz\/m)

° Watch Video Solution

rcoso + 1

27. Evaluate: /
(z? + 2z cosa + 1)

3
2

° Watch Video Solution



https://dl.doubtnut.com/l/_PAX8oDkZCLV2
https://dl.doubtnut.com/l/_loVQpnuKFYgz
https://dl.doubtnut.com/l/_Q8r8WG1KsEXC
https://dl.doubtnut.com/l/_frieoSXfNkip

sin® zdx

28. Evaluate: .
(cos*z + 3cos?z + 1)tan™ " (secz + cosx)

o Watch Video Solution

29./ (a:_7/6 —w5/6)dm
x

1/3(m2+m—|—1)1/2—xl/z(m2+m+1)1/3

° Watch Video Solution

ycotz — (/tanx

30. Evaluate: / 1T 3sin22 dx

° Watch Video Solution

/ dz
31. Evaluate:
V/sin(z + a)cos3(z — B)

o Watch Video Solution



https://dl.doubtnut.com/l/_d6izuxVvGqae
https://dl.doubtnut.com/l/_j8wCHbadYkcj
https://dl.doubtnut.com/l/_KtcjHoQImLFg
https://dl.doubtnut.com/l/_kLpeZzg1m0KG

in 2z (1 — %cos m)
32. Evaluate: f dx

esin2 x +cos®x

° Watch Video Solution

33. If
/(sin 36 + sinf)cos fe"™dh = (Asin® 0 + Bcos®6 + C'sinf + Dcos 6 + I

then:

° Watch Video Solution

cos (1 + 4 cos 2z)
34. Evaluate: [— -
sinz + 4sinx cos? x

o Watch Video Solution

1 n+5 1’2 _1
35. Evaluate: /(m + —) ( )dm
x ;1;2

° Watch Video Solution



https://dl.doubtnut.com/l/_odhTXVYnjgKR
https://dl.doubtnut.com/l/_qK3mTuieCKNq
https://dl.doubtnut.com/l/_8NdWCO5ayxWt
https://dl.doubtnut.com/l/_cj3nLnFgQtWM

36. If /\/cosecm + Idz = kfog(x) + ¢, where k is a real constant,

then

° Watch Video Solution

2 L
37. Evaluatez/m
:13(1 " aﬁ)

o Watch Video Solution

dx equals

1

38. Evaluate: / s dzx
cosb x + sin’ x

o Watch Video Solution

dzx
39. Evaluate >
(5+ 4cosx)

° Watch Video Solution



https://dl.doubtnut.com/l/_CPTCUszqgQuK
https://dl.doubtnut.com/l/_FmoYL5djuCI5
https://dl.doubtnut.com/l/_JHwwjOjxOCjq
https://dl.doubtnut.com/l/_an6rgwpcKZ6o

6
40. Evaluate: / cos8 deo

(5 + 4cos6)’

° Watch Video Solution

a-+becosz

41. Evaluate:/ Sde
(b+ acosx)

o Watch Video Solution

sin®(6/2)d
42. Evaluate / .
cos 6 / 2+/cos® 0 + cos? § + cos 0

o Watch Video Solution

z? -1
43. Evaluate: dz
zy/(2? + ax + 1)(2? + Bz + 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_CFkXqoqoqjdu
https://dl.doubtnut.com/l/_V4Ffjhyw1jew
https://dl.doubtnut.com/l/_UGTEG7wJZOJT
https://dl.doubtnut.com/l/_syepAWADPPp4

— 2 dx

].—I—.’L‘2. w/1—|—;1;4

44, Evaluate:

° Watch Video Solution

45, Evaluate

I_/(w—l)\/x4+2m3—m2—|—2a:—|—1
B z?(z + 1)

dzx.

° Watch Video Solution

dz.

ta,n(% — x)
46. Evaluate /

cos? m\/tan3 z + tan’z + tanz

° Watch Video Solution

3

. il
47.The value of /\/51n:1: Sih @ dx is equal to (A) sin ™! sin% z + C (B)
1—sin"z

2 . ~1( . 32 2 —1( . 2
Esm (81112 a:) + C(C) — gcos (smz a:) + C (D) none of these

° Watch Video Solution



https://dl.doubtnut.com/l/_iPHh3QOTKK1I
https://dl.doubtnut.com/l/_aBUiz9eyFpSL
https://dl.doubtnut.com/l/_iHT6hyFhjt8z
https://dl.doubtnut.com/l/_PTO14Zu29hJH

48. Evaluate: / dz
222 4+ 3z +5

o Watch Video Solution

2z + 3
49, [———dx
V14 z + 22

o Watch Video Solution

242 1
50. Evaluate: /333 vy dzx
2 +z+1

o Watch Video Solution

51. Evaluate: / cosec’r — 2dx

o Watch Video Solution



https://dl.doubtnut.com/l/_PTO14Zu29hJH
https://dl.doubtnut.com/l/_lIILsdUUqggG
https://dl.doubtnut.com/l/_7aQdQgHycoKN
https://dl.doubtnut.com/l/_tVMgulxn3Cg1
https://dl.doubtnut.com/l/_KwNgpd6TbM1v

. M
s

\/cos 2
52. Evaluate: /—md

° Watch Video Solution

1+ 22
53. Evaluate: / dx
(1—22)V1+ 22+ x4

° Watch Video Solution

54.The value of /etane(seCG — sinf)(d)0 is equal to

° Watch Video Solution

Inz — 1
55.I:/ # dx is equal to:
(lnz)” +1

° Watch Video Solution



https://dl.doubtnut.com/l/_lsK3ZSgtjBDf
https://dl.doubtnut.com/l/_c1dBI42QNqd0
https://dl.doubtnut.com/l/_H3bftlpPel4J
https://dl.doubtnut.com/l/_LsUKQ774s652

56. [e® 2tanz + tz( +7r) dz i |t
. [€E m CO XL Z aclsequa (o]

° Watch Video Solution

3 _ 2
57.Evaluate: /e” wdx

(22 + 1)°

o Watch Video Solution

1 1
58. Evaluate: /<3:1:2 tan(;) — xsec’ (E)) dx

o Watch Video Solution

2
¢ +n(n—1
59. Evaluate/ ( ) de.
(zsinxz + ncosx)

° Watch Video Solution



https://dl.doubtnut.com/l/_sAGvGtWqz2O2
https://dl.doubtnut.com/l/_s3S0Zo7nEOin
https://dl.doubtnut.com/l/_75FwuYDxxtYd
https://dl.doubtnut.com/l/_ocRHayKQpEEf

1+ sin26 cos? 6 cos 260
60. Evaluate (< log T simd + log 17 en20 do.

° Watch Video Solution

?(zsec’z + tanz)
61. /T

(ztanz + 1)

° Watch Video Solution

62. Evaluate the following integral :

4 g3 ;
(zsinz+cosz) ) T COS"T — TSINT + COST d
e T
x2cos? x

° Watch Video Solution

63. Evaluate the following integral :

(zsinz+cosz) z* cos® x —zsinz + cosx
€ 2 coq2 dz
Ir“ COoS“ X

° Watch Video Solution



https://dl.doubtnut.com/l/_P41ZNtwjwlAq
https://dl.doubtnut.com/l/_OMIbjlkRr6hH
https://dl.doubtnut.com/l/_FZfxGBZFK7Bx
https://dl.doubtnut.com/l/_mAFCrxwpcNMS

2 442
64. EvaIuate:/ z dx

(zsinz + 7cos m)2

° Watch Video Solution

[NF [3Y]

2.:2( 2
z —sinz) 6z sm( )

Nz T —sinz

65. Evaluate:

° Watch Video Solution

66. Evaluate: /:a,n_1 \/vVz — ldz

° Watch Video Solution

2
6
67. Evaluate: / T S dx
(zsinz + 3cos z)

° Watch Video Solution



https://dl.doubtnut.com/l/_mAFCrxwpcNMS
https://dl.doubtnut.com/l/_9dVWGhTmjCTy
https://dl.doubtnut.com/l/_SWmNSyPePIq6
https://dl.doubtnut.com/l/_mgPuWbp06mF8
https://dl.doubtnut.com/l/_Sx3atQfd3fU0
https://dl.doubtnut.com/l/_qsyqUoUIlWnw

og. 1+ sin’z
68.Eva|uate:/] Ee d

cos?

T

o Watch Video Solution

1
69. Evaluate: /— dzx
z (2% +1)

° Watch Video Solution

1
70. Evaluate: / L dzx

z(1 + zer)?

° Watch Video Solution

1

tan” - x
71.Evaluate [———dzx.
24

o Watch Video Solution



https://dl.doubtnut.com/l/_qsyqUoUIlWnw
https://dl.doubtnut.com/l/_9SqxclJCl4yD
https://dl.doubtnut.com/l/_f5VjnHUzpS8u
https://dl.doubtnut.com/l/_jIPcXlTyxkk3

343z +2
72.Eva|uate:/ T o+ dzx

(22 + 1)*(z + 1)

° Watch Video Solution

73. Evaluate:/];(x)

0 —1

dx where f(x) is a polynomial of second degree ini

x such that f(0) = f(1) = 3f(2) = — 3.

° Watch Video Solution

74. Evaluate /&/tan zdr

° Watch Video Solution

dzx
75. Evaluate: /
(2 + 3)v4x +5

o Watch Video Solution



https://dl.doubtnut.com/l/_csWorxp1Tg9Q
https://dl.doubtnut.com/l/_O1scIa6tEITY
https://dl.doubtnut.com/l/_lvpE4TUPTNIn
https://dl.doubtnut.com/l/_wsHV9Q5MqABY
https://dl.doubtnut.com/l/_3Kgj0PS5UO9K

dzx
76. Find/
(z —1)va?2 -1

° Watch Video Solution

1
77. Evaluate: / dx
(14 22)v1 — z2

o Watch Video Solution

—1
78. Evaluate:/ z dzx
(z+ vz + 22+ 2

° Watch Video Solution

79. Evaluate: /#
z2(1+ z2)*

o Watch Video Solution

80. Evaluate: [dx/x(x"5+1)) dx is equal to:



https://dl.doubtnut.com/l/_3Kgj0PS5UO9K
https://dl.doubtnut.com/l/_S2vSzudCKDwZ
https://dl.doubtnut.com/l/_la8knkvUwmwU
https://dl.doubtnut.com/l/_Bk8I5kHKLTr6
https://dl.doubtnut.com/l/_LPsXAQgsSTPU

| ° Watch Video Solution

81. Evaluate [dx/((1+x"2))

° Watch Video Solution

1
82. Evaluate: / dzx
z+Vzr2—z+1

o Watch Video Solution

83. [sin® z sin 2zdz

o Watch Video Solution

84. Obtain the reduction formula for /cos" zdx

o Watch Video Solution



https://dl.doubtnut.com/l/_LPsXAQgsSTPU
https://dl.doubtnut.com/l/_0tnmra39ARtj
https://dl.doubtnut.com/l/_E49pxtO4ms6z
https://dl.doubtnut.com/l/_Bajk4DskvFIK
https://dl.doubtnut.com/l/_vnjWVj6OhRqg

85. Write a value of /ea‘” sinbz dz

o Watch Video Solution

86. Find the value of [1/ 2x - 2/ x + 3/ Vx dx'

o Watch Video Solution

87.1f %f(m) = f'(z), then ﬁffj;;_(i];(x) dz is equal to

° Watch Video Solution

2
88.%vloga:(logm —1)dz = (A %(logm —1)%dz = (B) (zlogz)® + ¢

1
(Q) E(wlogm +1)2 4+ ¢ (D) 2(zlogz — z)* + ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_QT0hPQWlYrvV
https://dl.doubtnut.com/l/_SGPmVXCv40gF
https://dl.doubtnut.com/l/_YZtI0iL1RW8Z
https://dl.doubtnut.com/l/_tYeFCukH32eW

X — &
80.If [ = / € dz. J = / © dx. Then for an
e4w+62m_|_1 e—4$+e—2m_|_1

arbitrary constant c, the value of J — I equal to

° Watch Video Solution

T

90. Let f(z) = for n > 2 and g(z) = fofo...of(x) , then

(1+am)/" —

n times
ﬁc"”g(w)dm equals to

° Watch Video Solution

91. The integral /aw(f(x) + f'(z))dx can be solved by using integration

parts such that:

I—/f(m)d:c—lr/f(:cdw—emf(m) /f d$+/f

, and /e““"(f(a:) . ))dx— fT—I—C Now answer the

question:/emwm(2 +logz) = (A) e“z”logz + C (B) e* + 2 + C (Q)

e*z(logz)’ + C (D) €. 2° 4+ C

o Watch Video Solution



https://dl.doubtnut.com/l/_ALm4zLnETf71
https://dl.doubtnut.com/l/_D5eGDW2LbMk5
https://dl.doubtnut.com/l/_zu9r6ytpztfp

92.The integral /3$(f(a:) + f’(x))dz can be solved by using integration

parts such that:

I—/f d:v+/f:c /f d:z:+/f

, and /“‘” (f(a:) + @)dm = e‘w% + C Now answer the

1
question:/ log, (log, ) + — (dx is equal to (A)
(log, )
log, (log, ) + C (B) z log,(log, =) — * _+c (Q)
log, =
x x
— log, = + C (D) log, (log, ) — +C
log, = log, x

o Watch Video Solution

93. The integral /zm(f(x) + f’(x))dz can be solved by using integration

parts such that:
I—/f d:v—i—/fa::r /f d:z—l—/f
, and /e ( (z) + _ac) = —l— C Now answer the
e*(2 — /1 /1
question:/ ( + C (B) T
(1—xz)v/1— 22 -z

2—zx

C x
(©e 2+«

+ C (D) none of these



https://dl.doubtnut.com/l/_zu9r6ytpztfp
https://dl.doubtnut.com/l/_BMrkfzqQTNVc
https://dl.doubtnut.com/l/_E11LQpoZ9qCL

| o Watch Video Solution

1. Evaluate: /sin2 x cos’ z dz

° Watch Video Solution

2. /0056 z sin® zdz

o Watch Video Solution

3 5
3. /sec4 T cosectxdx

o Watch Video Solution

4, /sin3 2z cos? 2zdx



https://dl.doubtnut.com/l/_E11LQpoZ9qCL
https://dl.doubtnut.com/l/_VTjLKx7GTnil
https://dl.doubtnut.com/l/_dqqTIt7IE5iv
https://dl.doubtnut.com/l/_BA9US7z3aHzZ
https://dl.doubtnut.com/l/_j1lqSqswHQ7S

| o Watch Video Solution

dx
N SN
sin® z cost z

o Watch Video Solution

dx
6. Evaluate: —
sin™" x cos 3

° Watch Video Solution

7. Evaluate: /ca,n5 zdzr

° Watch Video Solution

8. Evaluate /sin4 zdr.

° Watch Video Solution



https://dl.doubtnut.com/l/_j1lqSqswHQ7S
https://dl.doubtnut.com/l/_wHzOiNXCNneR
https://dl.doubtnut.com/l/_SJbBLTqmVpYp
https://dl.doubtnut.com/l/_cnkTeeeD59OD
https://dl.doubtnut.com/l/_SA6e4WiPGhAq
https://dl.doubtnut.com/l/_DoN8rsFOdxen

9. /sin8 zdzr

o Watch Video Solution

10. /cos8 rsinzdzr

o Watch Video Solution

11

cos3 x 9 _5
nIf : de = — 2(A tan 2 + Btan ? :v) + C, find then find
sin'' x

A and B.

o Watch Video Solution

12. /\/tana: sec x cos ecxdr

o Watch Video Solution



https://dl.doubtnut.com/l/_DoN8rsFOdxen
https://dl.doubtnut.com/l/_X26BpqXKa4KR
https://dl.doubtnut.com/l/_iQweCLcJJWLo
https://dl.doubtnut.com/l/_X8c3Qw1dvS2A

13. Evaluate: /sin3 x cos’ zdz

o Watch Video Solution

dzx
cos3 z+/s € 2z

14. Evaluate:

o Watch Video Solution

15. Evaluate /sec6 xdx [Here power of sec x is even positive integer]

o Watch Video Solution

6. ot (% an( 2 ) o

o Watch Video Solution

17. /can5 Osect do


https://dl.doubtnut.com/l/_5N43iJF4cdqk
https://dl.doubtnut.com/l/_Om7Mm5yIAA7U
https://dl.doubtnut.com/l/_qde4ZZWEiwfN
https://dl.doubtnut.com/l/_cbLsnNVZnJYU
https://dl.doubtnut.com/l/_zhTb6WZU0S5l

o Watch Video Solution

18. Evaluate: /sec" rztanzx dz

o Watch Video Solution

19. Evaluate: /cot" zcosectzdr,n # — 1

o Watch Video Solution

20. /:ot4 rdx

o Watch Video Solution

21. Evaluate: /3&115 rdx

o Watch Video Solution



https://dl.doubtnut.com/l/_zhTb6WZU0S5l
https://dl.doubtnut.com/l/_zshtUerfA6mH
https://dl.doubtnut.com/l/_usV8LOgr9oME
https://dl.doubtnut.com/l/_JqlsjvD2TQdf
https://dl.doubtnut.com/l/_EDBYz9TVFstd
https://dl.doubtnut.com/l/_v5gjDi7ktJqL

.2
22./Sln—9”2dx
(14 cosx)

o Watch Video Solution

23. ﬁ:anm z sect zdx

o Watch Video Solution

/ dx
24. -
asinx + bcosx

° Watch Video Solution

1
25. Evaluate: /—
sInx + Cos &

° Watch Video Solution

26. /&dx
b+ atanz


https://dl.doubtnut.com/l/_v5gjDi7ktJqL
https://dl.doubtnut.com/l/_CSW1vBgQONvc
https://dl.doubtnut.com/l/_vxEFFq34EioP
https://dl.doubtnut.com/l/_z2nBAHyK3d37
https://dl.doubtnut.com/l/_QHYIsesm2k8I

o Watch Video Solution

27. ﬁ:an 2x tan bz tan Tzdzx

o Watch Video Solution

/ dzx
28.
secx + cosecx

o Watch Video Solution

20, /d_w
sinx + tanx

o Watch Video Solution

1
30. Evaluate: / —  dz

sinz cos? x

o Watch Video Solution



https://dl.doubtnut.com/l/_QHYIsesm2k8I
https://dl.doubtnut.com/l/_hxajtEwy6rwO
https://dl.doubtnut.com/l/_QkhYVVNVSPcd
https://dl.doubtnut.com/l/_Se1KtchhoIlj
https://dl.doubtnut.com/l/_PzSXFuw0hDDc

31 / dr
") I3+ beosz — 12sinz

o Watch Video Solution

32. /ca,n z tan 2z tan 3zdz

o Watch Video Solution

33. Evaluate: /can(a: — O)tan(z + 0)tan 2z dx

o Watch Video Solution

Ccos T
34, /—daz
v1-+cosz

° Watch Video Solution

35, / d
cos z cos(z + a)


https://dl.doubtnut.com/l/_KEBHwaIZXNJO
https://dl.doubtnut.com/l/_QIwmxitNMLZs
https://dl.doubtnut.com/l/_m3E0e7KXlI34
https://dl.doubtnut.com/l/_eKZE6zPM3yuT
https://dl.doubtnut.com/l/_5Hgm6VIFIfGk

° Watch Video Solution

sin 2z
36. / - dx
sin(z — a)sin(z + )

° Watch Video Solution

COS3 T

37. Evaluate: / 5 dzx
sin“xz + sinx

° Watch Video Solution

dzx
38. -
sin” x cos x

° Watch Video Solution

39. Evaluate the following integration

x? + sin? ar:)sec2 x
dx

(1+2?)

| o WMl L\ dan Ol iklmn


https://dl.doubtnut.com/l/_5Hgm6VIFIfGk
https://dl.doubtnut.com/l/_QY6Auz0Hca4J
https://dl.doubtnut.com/l/_VlCnk1mFUCMl
https://dl.doubtnut.com/l/_wNZLqEGXGiCz
https://dl.doubtnut.com/l/_IMRoR6hPLWW6

L ¥Yvdalilll VIUCV JViuLivii

Cos T
40./ > (1 — 3cos® ac)dac

sin” x

° Watch Video Solution

et(log) @

41, Evaluate:/ ed(log) &
e3(

dr
log) ,z _ e2 log x

o Watch Video Solution

cos 2 — CoS 2
42, Evaluate: d

COST — COS «x

€T-

o Watch Video Solution

3 .3
cos’ ¢ + 7sin’ x
43./5 > dx
3sin“ x cos?

o Watch Video Solution



https://dl.doubtnut.com/l/_IMRoR6hPLWW6
https://dl.doubtnut.com/l/_t0pTXFYq0drx
https://dl.doubtnut.com/l/_DunypRbl9eDV
https://dl.doubtnut.com/l/_07Pb1718TlRM
https://dl.doubtnut.com/l/_Zg3HsORPI9Yq
https://dl.doubtnut.com/l/_bVOgw5MvlJ37

x 2z
44, /mdw

a4a:

° Watch Video Solution

45, Evalute /sec2  cos’(2x)dx

° Watch Video Solution

46, cos 7z — cos 8z da
cos 2 — cos 3z

° Watch Video Solution

4
47./@«1:[;
¢ +1

o Watch Video Solution

6+1
48. Evaluate the following integral : /ac il

dzx
x2 +1



https://dl.doubtnut.com/l/_bVOgw5MvlJ37
https://dl.doubtnut.com/l/_7kMCpYdoEHd6
https://dl.doubtnut.com/l/_mzme5O0KgCQW
https://dl.doubtnut.com/l/_7rDIvDiecAaL
https://dl.doubtnut.com/l/_C9IFN51ufelh

I ° Watch Video Solution

4
4&/ T dx
1+ 22

o Watch Video Solution

4
0. [
(1+ 2?)

o Watch Video Solution

4141
51. Evaluate: /m * dzx
2 4+ 1

° Watch Video Solution

2
1

52./H—x)dx
2+

o Watch Video Solution



https://dl.doubtnut.com/l/_C9IFN51ufelh
https://dl.doubtnut.com/l/_KFsyncJSbQ3R
https://dl.doubtnut.com/l/_3dx3brQILXDH
https://dl.doubtnut.com/l/_zwwrcJroWRN4
https://dl.doubtnut.com/l/_Hc8Lo0ZnO1Me

dx
» ferae

° Watch Video Solution

/ dx
54, [———
1+ secx

° Watch Video Solution

following:

1 — cos2zx

55. Integrate the
5 cos® 2sin® 1+ 2sinz
/{ cos;c—i— 8111.'1:_#\/1_'_8?2%+ :
2sin“ x - cos? x cos? x

+ 1 + cos2zx

baa

o Watch Video Solution

dr
56.
/{(w —5)+(z - N}/(z - 5)(z -7

° Watch Video Solution



https://dl.doubtnut.com/l/_nE32POD1AUta
https://dl.doubtnut.com/l/_5OXoOVxcQCRU
https://dl.doubtnut.com/l/_xqO5WX8U6f6h
https://dl.doubtnut.com/l/_MlCIJCO5sFtD
https://dl.doubtnut.com/l/_Maws5pi38ZkN

sin® z + sin® z
57. I dz
cos? x + cos? x

° Watch Video Solution

5 — 2
58, /—daz
V3x + 7

o Watch Video Solution

2
50. /L2da:
(z+1)

o Watch Video Solution

60.

2
/ z dzx
vii—=z

° Watch Video Solution

dzx

fiv



https://dl.doubtnut.com/l/_Maws5pi38ZkN
https://dl.doubtnut.com/l/_5zG4BXnGRY7c
https://dl.doubtnut.com/l/_NzOWmaiSF9no
https://dl.doubtnut.com/l/_mamkIWOToUp6
https://dl.doubtnut.com/l/_sKLsHzqCH9Nv

| ° Watch Video Solution

&/ dz
Ve+1—yz+1

o Watch Video Solution

dz
63.
/(1+m)%—(1+m)%

o Watch Video Solution

Mf+m+§
1+ xs

o Watch Video Solution

dr
65. g
w2 —|—;c3 + x3

° Watch Video Solution



https://dl.doubtnut.com/l/_sKLsHzqCH9Nv
https://dl.doubtnut.com/l/_KZG6b1Cc5waX
https://dl.doubtnut.com/l/_xTzWlIbn1TcU
https://dl.doubtnut.com/l/_8HF4304pa1zG
https://dl.doubtnut.com/l/_mOksOjLSNtVw

in./z

66. Evaluate: (i)

z + 1)e”

dz (i) /:

in?(z e®)

dx

o Watch Video Solution

& f# ”

° Watch Video Solution

cos(log x
6. /&dw

x

° Watch Video Solution

Ccos \/a:l: + b

69.
var +b

o Watch Video Solution



https://dl.doubtnut.com/l/_mOksOjLSNtVw
https://dl.doubtnut.com/l/_cDj0QTSH1YpS
https://dl.doubtnut.com/l/_Wyoe3nuZxQrz
https://dl.doubtnut.com/l/_f3cU3xFC1Q5A
https://dl.doubtnut.com/l/_WruG0V1BE0Yz
https://dl.doubtnut.com/l/_GIfKkh1N2ZMt

T

.3
3+ 21
7Q/Sln( ogar:)d

Z

° Watch Video Solution

sin 2x

71. Evaluate : / dx
a

2 4+ p2sin’x

° Watch Video Solution

2
T

72.Eva|uate:[|+ e”’*%dm
72

o Watch Video Solution

73. /d—x_
T+ 4/

° Watch Video Solution

w =

74. /de
(22 +2)



https://dl.doubtnut.com/l/_GIfKkh1N2ZMt
https://dl.doubtnut.com/l/_nDIzH8wEAyR8
https://dl.doubtnut.com/l/_qCLZBF6KvtFQ
https://dl.doubtnut.com/l/_Mn81gMI5HLZ2
https://dl.doubtnut.com/l/_QeuyFL1uC327

| ° Watch Video Solution

2

tan2 z sec? x
75.Evaluate: |———d=x
1+ tanb z

o Watch Video Solution

76. Evaluate: / dz
z log z log(log x)

o Watch Video Solution

e2w
77. /—dm
44/e* + 1

o Watch Video Solution

78. [zsin z%dz

o Watch Video Solution



https://dl.doubtnut.com/l/_QeuyFL1uC327
https://dl.doubtnut.com/l/_yOwc6UHsxIM4
https://dl.doubtnut.com/l/_gyjhHu0TlXTp
https://dl.doubtnut.com/l/_xEyVU8aHOCob
https://dl.doubtnut.com/l/_lyzWndn0vT9G

- / dx
2/zP — @

° Watch Video Solution

3
80. /w—2dx
(1+2?)

o Watch Video Solution

N ot

dx

81. /3;3(1 — z?)

o Watch Video Solution

82. /,/secx + 1ldzx

o Watch Video Solution



https://dl.doubtnut.com/l/_J4CyHllSiBP8
https://dl.doubtnut.com/l/_09NsFpj4hvNF
https://dl.doubtnut.com/l/_OpXYLM6LyaOq
https://dl.doubtnut.com/l/_4Pozt1bI3wE1

sin 2z .
83. dzx isequal to

sin*z + cost z

° Watch Video Solution

e—1 ea:—l

T
84. Evaluate: /—dm

xe_ea:

o Watch Video Solution

1 0
85. Evaluate: /+—C,()Sd0
0 + sin0

° Watch Video Solution

tanx

86. Evaluate
secxr + tanx

° Watch Video Solution

et~ (— 1) (x
87. Evaluate:/ ( )(2) dzx
1+ 2


https://dl.doubtnut.com/l/_mLcsxngdXyA5
https://dl.doubtnut.com/l/_zdNncDJdNgvA
https://dl.doubtnut.com/l/_C6CpP8tTXHD9
https://dl.doubtnut.com/l/_Crzq3maRREge
https://dl.doubtnut.com/l/_i3JpAWCL1Dhy

° Watch Video Solution

dzx

88. Choose the correct answers/ﬁis equal to(A) tan~!(e®) + C

et + e

(B)tan~!(e ") 4+ C (C) log(e® — e~ ®) + C (D) log(e® + e~%) + C

° Watch Video Solution

89. Evaluate: /secac (secz + tanz)dz

° Watch Video Solution

1,.3

2 —
90. Evaluate: /a:ta,n—a:dx
14 6

° Watch Video Solution

91. Evaluate:/ a4 dzx
b+ ce®

° Watch Video Solution



https://dl.doubtnut.com/l/_i3JpAWCL1Dhy
https://dl.doubtnut.com/l/_uzVyTJeiPRl1
https://dl.doubtnut.com/l/_O0899vLnPgDs
https://dl.doubtnut.com/l/_IPFJH4eHgoGy
https://dl.doubtnut.com/l/_Asn7Aovxyx8G

e.’L‘
92./—dw
e +e %

o Watch Video Solution

dx

+1)(z + logz)?
93./(w )(z + logz)

2z

o Watch Video Solution

sin 2z
94, Evaluate dx

(a + bcos a:)2

° Watch Video Solution

10z° + 107 (log), 10
95. Evaluate: / dzx
10% + z10

o Watch Video Solution



https://dl.doubtnut.com/l/_Asn7Aovxyx8G
https://dl.doubtnut.com/l/_S3od7FtwXVAa
https://dl.doubtnut.com/l/_LGZdA7MSBxQN
https://dl.doubtnut.com/l/_cIb3zSiD96CG
https://dl.doubtnut.com/l/_RvDk6SF80BY4
https://dl.doubtnut.com/l/_ZEelxdksrIpH

5
96. Evaluate: /m—dw
V14 z2

o Watch Video Solution

dx

(2 + 1)@ — 1)’

o7. /\3/

o Watch Video Solution

dx

98. Evaluate: /

m\/log(x FVIT )

° Watch Video Solution

23
99. /—dm
V1 + x8

° Watch Video Solution



https://dl.doubtnut.com/l/_ZEelxdksrIpH
https://dl.doubtnut.com/l/_STbF51AIZ9WY
https://dl.doubtnut.com/l/_a1XrU42Zh3Np
https://dl.doubtnut.com/l/_BgKsXUJsZvKG

100. Evaluate: / dz

3
(a? + 22)2

° Watch Video Solution

3}‘2
101. /—2
(@ +a?)

o Watch Video Solution

1
102. Evaluate: /—da:

22y/1 + 22

o Watch Video Solution

T
103. /—dm
‘/(1,4 _ 2134

° Watch Video Solution



https://dl.doubtnut.com/l/_73Kxk48YtNGe
https://dl.doubtnut.com/l/_teCwC9s8Cx1j
https://dl.doubtnut.com/l/_ZRs9uQx3jPCw
https://dl.doubtnut.com/l/_oQd2IcMTKUsH

NZ3
———dzx
/a2 _ :1:3

104.

o Watch Video Solution

a2 — 22
105. Evaluate: fc ——dx
G/Z + 372

o Watch Video Solution

1
106. Evaluate: /— dx
1—e22

° Watch Video Solution

107./d—$
z(1 + z2)

o Watch Video Solution



https://dl.doubtnut.com/l/_GD4DKq8RaKcs
https://dl.doubtnut.com/l/_dAeVVnDUePOX
https://dl.doubtnut.com/l/_piJWbiVrYlY4
https://dl.doubtnut.com/l/_yvxjNETf0LlX

234
108./ dx
14 g4

o Watch Video Solution

i
109./ R

1—=z

o Watch Video Solution

10 / dz
J(1+22)V1— 22

o Watch Video Solution

111./@/1_"’3@
1+x

o Watch Video Solution



https://dl.doubtnut.com/l/_Kslue7fRbArM
https://dl.doubtnut.com/l/_MjfGgPWIU2BH
https://dl.doubtnut.com/l/_rlXQGeruXjeH
https://dl.doubtnut.com/l/_oRDG8AJ7ofqi

22
12. /—da:
V1— z2

o Watch Video Solution

22
113. /—dm
V1+ x?

o Watch Video Solution

2
114. /x—de
vVl +4

o Watch Video Solution

115./(a: +2)y/z? — 1dz

o Watch Video Solution



https://dl.doubtnut.com/l/_PnqSeXUHHFef
https://dl.doubtnut.com/l/_xG69tRtTFdbA
https://dl.doubtnut.com/l/_F48cVqB7FHtL
https://dl.doubtnut.com/l/_PyOsT2s4pYnM

+ 2
v 2dm

€r —

116./(3: +1)

° Watch Video Solution

1
117./(:13—2)1/ 1jidm

° Watch Video Solution

118. e 1 (A)ln(e”c /e —1
(B)ln( ) +sec!(e?) + C

(C’)ln( 1) sec™!(e®

(D)ln( 1) —sin"'(e™*) +C

) — sec” 1(e”)+C

° Watch Video Solution

119. / o5 dz
\/sinza: + 3sinx + 4

| o Watch Video Solution


https://dl.doubtnut.com/l/_XGI8qgjB8Hxl
https://dl.doubtnut.com/l/_cnvIzBO4OPPj
https://dl.doubtnut.com/l/_uELQfBwpnalP
https://dl.doubtnut.com/l/_5Zt9i6tNkxLh

dzx

120./
x[(logw)2 + 4logz — 1]

o Watch Video Solution

dx

x
121.
/ 1+«

o Watch Video Solution

r —a

122./ CET

° Watch Video Solution

123/ dz
) T+ Ve —1

o Watch Video Solution



https://dl.doubtnut.com/l/_5Zt9i6tNkxLh
https://dl.doubtnut.com/l/_5nnFzcQ6jvKg
https://dl.doubtnut.com/l/_KDC3wY2VxKDJ
https://dl.doubtnut.com/l/_rbrm7tSuGRV0
https://dl.doubtnut.com/l/_MnmAScdsr8HV
https://dl.doubtnut.com/l/_JzLOGXHwrqNl

124./ T %
b—=x

o Watch Video Solution

125./‘1—3j
/1 + ™

° Watch Video Solution

1 2
126./ T e

2 — 4

o Watch Video Solution

o Watch Video Solution



https://dl.doubtnut.com/l/_JzLOGXHwrqNl
https://dl.doubtnut.com/l/_o45AseVSWFyl
https://dl.doubtnut.com/l/_3XaadJMbeJ8P
https://dl.doubtnut.com/l/_cA1r476dD53o

128. Evaluate

CoS T4/CoS 2a:

° Watch Video Solution

dz,is

(z —1)
129. The value of/
(z+1)vVad + 22+ x

° Watch Video Solution

2_1
130. Evaluate: / z dx

(z4 + 322 + 1)tan_1(a: + %)

° Watch Video Solution

dx ) 1+ 4z
131. — is equal to (a)———— + ¢
/(1+\/w)\/(w — z2) | (1—z)°
_ z—1
(C) ve +C(d)g+c

(1—:1:) (1—x)

° Watch Video Solution



https://dl.doubtnut.com/l/_hXLHNhpT721r
https://dl.doubtnut.com/l/_B2QfHlWySwwz
https://dl.doubtnut.com/l/_XtD7QLdh4LxG
https://dl.doubtnut.com/l/_H5kE05EGEwjJ

2tanz + 3
132./ 5 + dx
sin®x + 2cos? x

° Watch Video Solution

dx
133.Evalute: | ——
sinx + secx

o Watch Video Solution

134. Evaluate: /; dzx
v+ +1

° Watch Video Solution

135. Evaluate: /;dx
xd+ 241

° Watch Video Solution

2z + 3
136. [ ———dx
V14 z + 22


https://dl.doubtnut.com/l/_hMKv3VfuSPDU
https://dl.doubtnut.com/l/_lE6YQgn51fF6
https://dl.doubtnut.com/l/_sHUb9jsOGHeT
https://dl.doubtnut.com/l/_6xz5K0eerqhw
https://dl.doubtnut.com/l/_e4V5jbbeXoMZ

° Watch Video Solution

137. Evaluate: /\/71: — 10 — 2% dzx

° Watch Video Solution

sinx
138. / dr
\/sin2 T +cosz + 2cos?

o Watch Video Solution

dzx
139, [—m—
1+ cos?z

° Watch Video Solution

dx
140. [———
0 /4—|—5005x

° Watch Video Solution



https://dl.doubtnut.com/l/_e4V5jbbeXoMZ
https://dl.doubtnut.com/l/_QiukLdmI2hdB
https://dl.doubtnut.com/l/_PiEysYQeKwUZ
https://dl.doubtnut.com/l/_mEh88uSoeRUb
https://dl.doubtnut.com/l/_x3YECUcWBtvA

141, / dz
CoOsSx + cos T

o Watch Video Solution

1
142. Evaluate: [——— d=zx
1+ tanz

o Watch Video Solution

sinx + 2cos

143. Evaluate: / -
2sinx + cosx

o Watch Video Solution

144, /d—w
3 +4sinx

o Watch Video Solution

145 dz
" | 3sinx —4cosxz + 5


https://dl.doubtnut.com/l/_xCVuChErA8WI
https://dl.doubtnut.com/l/_HA9I9Wtk2K40
https://dl.doubtnut.com/l/_p9wxy7S7Ht2m
https://dl.doubtnut.com/l/_ijHWa0lNNGiT
https://dl.doubtnut.com/l/_0di8yjNtsTQd

° Watch Video Solution

146./ dz
4tanx + 4cot

° Watch Video Solution

147./ - dz
4sin°x + 9cos? x

o Watch Video Solution

148. / da g
(asinz + bcos )

° Watch Video Solution

.92
149, /&d:p
a+ bcos? z

° Watch Video Solution



https://dl.doubtnut.com/l/_0di8yjNtsTQd
https://dl.doubtnut.com/l/_9YjnhUfmHkyN
https://dl.doubtnut.com/l/_CUQcTPZbaYnF
https://dl.doubtnut.com/l/_GsWoan7TlFuY
https://dl.doubtnut.com/l/_kXDe7xpGMI7b

150/ cos xdzx
"J (2 +sinz)(1 — sinz)

o Watch Video Solution

sinzdx
(24 cosz)(3 — cosz)

151.

° Watch Video Solution

3
152%3”” rrrrlig
(1+ z2)>

° Watch Video Solution

153. Evaluate: /e’” (tanz — logcos z) dx

° Watch Video Solution



https://dl.doubtnut.com/l/_TC2OAywKBQs2
https://dl.doubtnut.com/l/_ilirZKP6WB2k
https://dl.doubtnut.com/l/_2SM0qSCJ4Y0u
https://dl.doubtnut.com/l/_MEeVxRHpRyRl

dx

”[1 + 41— :132Si11_133]
'|54./e
V1— 22

o Watch Video Solution

241
155. Evaluate: /3””3}——’_2 dx
(z +1)

o Watch Video Solution

e”(2 — sin2x)
156. Evaluate: / dx

1 — cos2zx

° Watch Video Solution

157’/6 2\/1—smmdx

1+ coszx

o Watch Video Solution



https://dl.doubtnut.com/l/_BdEsJHo7y0WZ
https://dl.doubtnut.com/l/_sxSE6vc2Bd7E
https://dl.doubtnut.com/l/_gvGYtOac09qa
https://dl.doubtnut.com/l/_b5pitGjGrkRu

1 — si
158. Evaluate: /e’” ($>dac
1——coszx

o Watch Video Solution

e*(1 — z)°
159. Evaluate: /—d:c

(1+a)’

o Watch Video Solution

x> —x+2
160/‘e dm
1+x2

o Watch Video Solution

161. Evaluate: /etan_lw (1 + v >dx
1+ 22

° Watch Video Solution



https://dl.doubtnut.com/l/_MKX3ZXWVREn6
https://dl.doubtnut.com/l/_vpDwKKkkpW5s
https://dl.doubtnut.com/l/_a6UyAFODRvEg
https://dl.doubtnut.com/l/_qk6E3v3bmcMP

ecot z
162. / (21n cosec x + sin 2z)dx
sin” x

o Watch Video Solution

sec2x — 1
163. |z ———— |d=x
sec2z + 1

° Watch Video Solution

164. /34‘” sin 3zdzx

° Watch Video Solution

165. /eloge * cos zdzx

° Watch Video Solution

z dzx.

166. Evaluate: /sin_1
a-+x


https://dl.doubtnut.com/l/_upGuuxEtMTtI
https://dl.doubtnut.com/l/_eIyyzSkPZlp3
https://dl.doubtnut.com/l/_Ak04kGFVFVsk
https://dl.doubtnut.com/l/_CZsQLKioxN7w
https://dl.doubtnut.com/l/_6c3vauii4eST

o Watch Video Solution

167. /cos 2z logsin zdx

o Watch Video Solution

in(1
oo [0,
23

o Watch Video Solution

169. /cos (blog(%))dm

o Watch Video Solution

170. /emsmlxdm

o Watch Video Solution



https://dl.doubtnut.com/l/_6c3vauii4eST
https://dl.doubtnut.com/l/_amGKboETHVot
https://dl.doubtnut.com/l/_z1CRPobfccAm
https://dl.doubtnut.com/l/_pSNpRiwwFA4z
https://dl.doubtnut.com/l/_FquLzRp1FZNX

lg

emtan*
171. /—2da:
(1+2?)

o Watch Video Solution

1
172. /cos -1 (—) dzx
T

° Watch Video Solution

log(1 +
s, [,
(2z +1)

o Watch Video Solution

1 2
174. ﬁog( —|—3:c )dw
x

o Watch Video Solution



https://dl.doubtnut.com/l/_nfcPJXnm8jaI
https://dl.doubtnut.com/l/_UnnJlGQsB6KT
https://dl.doubtnut.com/l/_zbgmH4BKA80u
https://dl.doubtnut.com/l/_ZXpxSOi2Ev22

175. ﬁog(l — z%)dz

o Watch Video Solution

176. Evaluate: ﬁog(a: + z? + a2) dr

o Watch Video Solution

log x
177. /—zdm
(z +1)

° Watch Video Solution

log(1 +
78, /de

2

o Watch Video Solution

179. Evaluate: /(elogw + sin ar:) cos zdzx


https://dl.doubtnut.com/l/_IxaKLJFJbD4l
https://dl.doubtnut.com/l/_Fc6iywFrzQuf
https://dl.doubtnut.com/l/_vouCk5pspiPr
https://dl.doubtnut.com/l/_imT1SjZtiYp0
https://dl.doubtnut.com/l/_GP8ZTg8ineF1

o Watch Video Solution

2 4 g2
180. /lMdcc

T2

o Watch Video Solution

181. /m?’ewzdm

o Watch Video Solution

.1
182. Evaluate /de

V1— 22

o Watch Video Solution

183. L
1-+sinx

o Watch Video Solution



https://dl.doubtnut.com/l/_GP8ZTg8ineF1
https://dl.doubtnut.com/l/_c7jSFj2V7MHg
https://dl.doubtnut.com/l/_GXtKBiotwvni
https://dl.doubtnut.com/l/_IP8FRZpvg02h
https://dl.doubtnut.com/l/_ZhVl975v52UP

184. evaIuate/Ze“’ + 6z + ln2dzx

o Watch Video Solution

2
3z — 2
185. evaluate H—xd:c
NZ’
o Watch Video Solution

i—
186. Evaluate: /:an_1 A / x dzx
1+ 2

° Watch Video Solution

T — sinx
187. Evaluate: /—dw
1——coszx

° Watch Video Solution

188. Evaluate: /{s € (logz) + cos(logz) }dx


https://dl.doubtnut.com/l/_aSna9n168fv4
https://dl.doubtnut.com/l/_dp4uJctgGs7J
https://dl.doubtnut.com/l/_n396wT8pqRkK
https://dl.doubtnut.com/l/_trkyWmSNl4Z0
https://dl.doubtnut.com/l/_mta4KOjZxBhU

° Watch Video Solution

189. What is the integral of sec ™! & ?

° Watch Video Solution

190. Evaluate: /(sin_1 x)2 dx

° Watch Video Solution

-1
191 /wtan_wdx
(14 22)%/?

o Watch Video Solution

1+t
192,/&&15
x + logsecz

o Watch Video Solution



https://dl.doubtnut.com/l/_mta4KOjZxBhU
https://dl.doubtnut.com/l/_ti1036celVih
https://dl.doubtnut.com/l/_mpCE1UkZFUpY
https://dl.doubtnut.com/l/_0iQ9w2kpyDzH
https://dl.doubtnut.com/l/_Zq5SlYCe6eqi

sin" 'z
193./—d33
(1—22)*/*

o Watch Video Solution

og sec”
194. f dzx
zvz? — 1

o Watch Video Solution

195. /( co;x — sinxlogx)dx

o Watch Video Solution

0gCcos T
196. /1g—dw

cos? ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_814hRaMrhqGx
https://dl.doubtnut.com/l/_kFcEDuBXY5hK
https://dl.doubtnut.com/l/_aY2WrON5pHyz
https://dl.doubtnut.com/l/_WxTGqKaVKrbk

sec?

197. evaluate/ —dx
\/16 + tan®z

° Watch Video Solution

og [m + 41+ :1:2]
198. The value of dzx is:

V1+ x?

° Watch Video Solution

199. evaluate/(sinx + cosz)’dx

° Watch Video Solution

200. evaluate /ZJJCOS z2dz

° Watch Video Solution



https://dl.doubtnut.com/l/_O4z2oR6LubFn
https://dl.doubtnut.com/l/_DRIhTD598GxK
https://dl.doubtnut.com/l/_297SnhACvB4Z
https://dl.doubtnut.com/l/_t90uO3A2ZTAH

tanx
201./sec2xcos_1x—— dx
V1 — 22

° Watch Video Solution

1
202. fclog (1 + ;)da:

° Watch Video Solution

203. /sin xlogtan xzdz

° Watch Video Solution

204.1If I = /e_xlog(e’”+1)dx, then I equals

° Watch Video Solution



https://dl.doubtnut.com/l/_sZurfcyBzjtW
https://dl.doubtnut.com/l/_kdpf4S2cR764
https://dl.doubtnut.com/l/_pdsOpAwQrTOX
https://dl.doubtnut.com/l/_OfKPU43Y6stY

1——cosx
205. Evaluate / dx
cosz(1 + cosz)

o Watch Video Solution

1-+sinx

206. Evaluate: / -
sinz(1 + cosz) dz

o Watch Video Solution

dx
207. /—2
(e — 1)

° Watch Video Solution

1
208. Evaluate: / -
sinz(3 + 2cos z)dx

° Watch Video Solution

sinx

dx

209. Evaluate: / -
sin4x


https://dl.doubtnut.com/l/_vtbbDxBLwIlz
https://dl.doubtnut.com/l/_cfRRqu2dQfGi
https://dl.doubtnut.com/l/_sjDxlY3nuZpY
https://dl.doubtnut.com/l/_cNFlbCsoR2wK
https://dl.doubtnut.com/l/_syYNvsuWXVhK

° Watch Video Solution

z—1)(z —2)(z —3)
210‘/§x i@

o Watch Video Solution

. / dz
(z 4+ 1)(2? + 2z + 2)

o Watch Video Solution

dr
212, /(w n 1)2(332 +1)

o Watch Video Solution

tan " x

1+ 22

213. Evaluate: dx

° Watch Video Solution



https://dl.doubtnut.com/l/_syYNvsuWXVhK
https://dl.doubtnut.com/l/_4caXQkJoqxXb
https://dl.doubtnut.com/l/_QZoYC5Q9Ii0v
https://dl.doubtnut.com/l/_jL5lXnUyt5Rd
https://dl.doubtnut.com/l/_voaLLlSARZk8

1 1—=x
214./—1/ dzx
T 1+zx

o Watch Video Solution

3 1
215. Evaluate: /:1: dx
3+

° Watch Video Solution

2

1

° Watch Video Solution

z2 +2x+3
217'/(x —2)(z + 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_axhVZz2oDta6
https://dl.doubtnut.com/l/_pyHflaFnrzya
https://dl.doubtnut.com/l/_cOPuh6tEhQOZ
https://dl.doubtnut.com/l/_D8vWtd5TJDC4

218./ =2 dz
(14 sinz)”(2 + sinz)

o Watch Video Solution

sin 2z
219./ dzx
cos?x + 3cosx + 2

o Watch Video Solution

/ dzx
220.
x3 —1

° Watch Video Solution

221, /d—mz
(22 +1)

o Watch Video Solution



https://dl.doubtnut.com/l/_p7BHaO81cGXg
https://dl.doubtnut.com/l/_tVLphNSVvy4C
https://dl.doubtnut.com/l/_clAfs3J013HF
https://dl.doubtnut.com/l/_0NzapzCIfTuB

222. /d—x4
(z2 +1)

° Watch Video Solution

223,/d—33
zi/x — 1

o Watch Video Solution

224, / dz
(z +2)vz +3

o Watch Video Solution

225, / dz
(z— )z -1

o Watch Video Solution



https://dl.doubtnut.com/l/_U3sN3hAEQSPE
https://dl.doubtnut.com/l/_1GddwOJ9d22f
https://dl.doubtnut.com/l/_izMTW03kRtl1
https://dl.doubtnut.com/l/_X5rMgkylBL4b

226./ da
(14+2)vV322+3z+1

o Watch Video Solution

227. /d—x
222 — 1

° Watch Video Solution

228. / dz
(22 — 1)vz2 + 1

o Watch Video Solution

229. fc?’(l + mz)%daz

o Watch Video Solution



https://dl.doubtnut.com/l/_auuB2fQGUjhK
https://dl.doubtnut.com/l/_dZyiGhszLl5G
https://dl.doubtnut.com/l/_ilJMn6CIxiWN
https://dl.doubtnut.com/l/_xhKnqM3dMpid

230. If I, = /(d—:z:n, n € N, then show that:

z? + a?)
7 1 T N 2n -1 1
" ona? (22 + a?)" n a2 "
° Watch Video Solution
231. If I, = / (a2 + mz)ndx, Prove that:
z+/(a® + z?)" na’ 2, 2\5 1
I, = nr 1 +n+1/(a —l—ﬂc) dr

° Watch Video Solution

232.1f I, , = /(sin z)™(cos z)"dx then prove that

(sinal:)mle

I (cosac)n_1 n—1

R
, m+n +m+1 m,n—2

° Watch Video Solution

1-+1
233. The value of /+—ﬂ

V@)t -1

dx 1is

[ - 1


https://dl.doubtnut.com/l/_Rv2q5N3c66jT
https://dl.doubtnut.com/l/_tNUOIWFkCDqL
https://dl.doubtnut.com/l/_VtPa55N9x7JQ
https://dl.doubtnut.com/l/_cOC6BDo4rdJF

| @J Watch Video Solution

234. The value of the integral [————
1+ ztanzx

dr is equal to (A)

log|z cos z + sinz| + ¢ (B) log|cos  + x| (C) log|cos z + x sinx| + ¢ (D)

none of these

° Watch Video Solution

5logx __

e410g:1:
dx is equal to

235. The value of the integral /

(A):zc2+c

3

(B)%w
2

T
(C)T—'_c

(D) none of these

e3logz _

e? log x

o Watch Video Solution

dzx

6 (cos bz + cos 4z)
/ 1 — 2cos 3z



https://dl.doubtnut.com/l/_cOC6BDo4rdJF
https://dl.doubtnut.com/l/_FLnitfjF29aB
https://dl.doubtnut.com/l/_pzsBg18stLJ8
https://dl.doubtnut.com/l/_LvfLuGAC8E1u

L = vvatlln viaco 50Iution )

237. The value of / f(2)¢’ () + () /" (2) dx is (A)
(f(z) - ¢(z) +1)1/¢(z) - f(z) -1
-1 — an ! sin ! @ none
cos ™/ £(@)* ~ 9(2)? (8) tan ! f(2)(x)] () o ©
of these

o Watch Video Solution

238. ﬁmw - tan 2z - tan 3zdzx is equal to
(A) logsin 3z + logsin 2z + logsinz + ¢
(B) log(sec 3z sec2z secz) + ¢
1 1
(C) glog|sec3w| - 510g|sec2x| — log|secz| + ¢

(D) none of these

o Watch Video Solution

239, The value of /,/1 + secxzdz is equal to (A)
ZSin_l(ﬂsin<%)> +c (B) 2cos_1(\/§sin(%)) +c (C)


https://dl.doubtnut.com/l/_LvfLuGAC8E1u
https://dl.doubtnut.com/l/_IjRyNFo632Mb
https://dl.doubtnut.com/l/_eohe27Sb34DM
https://dl.doubtnut.com/l/_QHFOaqqxfzop

2sin~! (ﬁcos(%)) + ¢ (D) none of these

° Watch Video Solution

3
240. [e” eretl dz is equal to :
(1+22)%/2

° Watch Video Solution

o1 -1
in T — CoS z
241. Evaluate: /s Ve \/_dac
sin~!\/x + cos !z

° Watch Video Solution

2 _
242, If / v 2 dx =log|f(2)| + ¢, then (A)
(x4 + bx2 + 4)ta,n_1(mz$—+2)

f(z) =tan"'z, where z=,Z+2 (B) f(z)=tan 'z where

(D) none of these

2
z=x+ = Q) f(z) = sin~! 2z, where z = v

° Watch Video Solution



https://dl.doubtnut.com/l/_QHFOaqqxfzop
https://dl.doubtnut.com/l/_G3YbAbctwerk
https://dl.doubtnut.com/l/_TxkrWOwNGhkm
https://dl.doubtnut.com/l/_cIg6YPzQxsSa

43, I /gg1og(1 +1/2)dz = f(z)log(z + 1) + g(z)a® + Az + C,

then

° Watch Video Solution

1

244./ 5 dx is equal to
cos® z + sin’ z

(A)tan~'(tanz — cotz) + ¢

(B) sin~ !(sin2z) + ¢

(C)tan~'(tanz + cotz) + ¢

(D) cot ~'(tanz + cot ) + ¢

o Watch Video Solution

sin bx .
245, /—dw is equal to
cos 7z cos 2x

(A) log|sec 7Tz| + ¢ (B) log|sec Tz sec2x| + ¢ (C) log|sec Tz + sec2z| + ¢

(D) none of these

o Watch Video Solution



https://dl.doubtnut.com/l/_g5k4Eivs97c8
https://dl.doubtnut.com/l/_Nn9324AnPH7m
https://dl.doubtnut.com/l/_7K7Q7tPKzyS3

x cos x logx — sinx . . .
246. 5 dz is equal to (A) sinx + ¢ (B) logz sinx + ¢
z(logz)

(C) logx 4 sinx + c (D) none of these

° Watch Video Solution

Mzﬂfwmww—f@m@)

f(z)g(z) )(log(g(a:)) — log(f()))dzis equal to:

° Watch Video Solution

248./ e _
Ve(l+z?)t
2 2 2
(A) —ml + ¢ (B) il + ¢ (C) \/52 + ¢ (D) none of these
(1+22)7 (1+22)7 1+z

o Watch Video Solution

1

—1\1 4 [z=1

249./ e (A)%(m 2) te® g/ e
(z —1)%(z + 2)* T+ T+

1

4 2\ ¢
(C) = T+ + ¢ (D) none of these
3\z—-1


https://dl.doubtnut.com/l/_jKgWqTwadQzd
https://dl.doubtnut.com/l/_RZm9SSXXeLQc
https://dl.doubtnut.com/l/_sVSwQlUq2Zwl
https://dl.doubtnut.com/l/_OoP1cVS3gqLU

° Watch Video Solution

2
250. - do= — ———° + f(x) + ¢ then f(x)
(zsinz +cosx)2 rsinz + cosx

may be (A) sinz (B) z sinx (C) tanx (D) cot

o Watch Video Solution

e”(1+ z) B . -
251. /W dz = (a) 2(log), cos(ze”) + C (b) sec(ze™) + C (c)

tan(ze®) + C (d) tan(z + €”) + C

o Watch Video Solution

1
252, /#dm
(1+ logz)

° Watch Video Solution



https://dl.doubtnut.com/l/_OoP1cVS3gqLU
https://dl.doubtnut.com/l/_0lVFDe4EZuvO
https://dl.doubtnut.com/l/_c5Rq5ilMyaeA
https://dl.doubtnut.com/l/_bxtFfQEWGWDT

equals(A) 10” — 2 4 C (B) 10° + 2™ + C

o3 /10:39 + 10z* (log) ,.ndx
' z10 + 10°
() (10° — ') "' + C (D) log(10° + ') + C

° Watch Video Solution

dzx 1 1+ 210
254. - A 1
/w(l + z10) A 10 og< z10 ) ¢ (®)

10 1
—log(w—> + ¢ (C) ———— + ¢ (D) none of these
1+ 210 (1 + z10)?

° Watch Video Solution

+ 2
255, / ( ? dr isequal to

22+ 3z + 3)vz + 1

o Watch Video Solution

256. about to only mathematics

o Watch Video Solution



https://dl.doubtnut.com/l/_JRK1mfNTWIQz
https://dl.doubtnut.com/l/_goJVNumfdp9X
https://dl.doubtnut.com/l/_rQzvSVfx4wns
https://dl.doubtnut.com/l/_hvg6xxOkVa7j

T — sinx
257. Evaluate: / — dzx
—Ccoszx

o Watch Video Solution

1 4
258, / TSt
cotrx — tanzx

o Watch Video Solution

. 1 + nmn—l o x2n

(1—2z")y/1— 22

dx

259. Evalaute: /e

o Watch Video Solution

260. The value of the integral
sinz — 6tan”!(sinz) + C
sinz — 2(sinz) "' — 6tan"!(sinz) + C

sinz — 2(sinz) "' + 5tan"!(sinz) + C

dzis
2 4

/cos3 x + cos® z
T+ sin” x

sin

sinz — 2(sinz) "' + C

o Watch Video Solution



https://dl.doubtnut.com/l/_5tgfXKwJ0z9E
https://dl.doubtnut.com/l/_jV6K3gs7gcha
https://dl.doubtnut.com/l/_Ottnj2adLa5a
https://dl.doubtnut.com/l/_jRYvbKk1yNkn

261 [ de ~ loglL — f(a)| + f(z) + then f(z) =
z(1 + zer)

° Watch Video Solution

262. If %vlog(l +1/z)dz = f(x)log(z + 1) + g(z)z* + Az + C,

then

° Watch Video Solution

dx = a4/cot  + b, then (A) 1(B) 2(C) —1 (D) —

inx cos x

Vot
263. If/ core
S

° Watch Video Solution

264. If /f(a:) - cos xdx = %{f(av)}2 + ¢, then f(0) =
(A) 1

(B) 0


https://dl.doubtnut.com/l/_jRYvbKk1yNkn
https://dl.doubtnut.com/l/_YXfybhWSiWpN
https://dl.doubtnut.com/l/_IWgFV5Y3G1Qt
https://dl.doubtnut.com/l/_i3zuKD1PBO2j
https://dl.doubtnut.com/l/_gbeLrT79VI0B

() -1

(D) none of these

° Watch Video Solution

1 1
265. Evaluate: / — 5 dx
logz  (logx)

° Watch Video Solution

Z

Te e e
266 —— dx = (A) (B) (C) €®log(1 + x) (D) none
(1+z)° I+z " (1+2)
of these
° Watch Video Solution

267. If /Slld:c = Az + Blogsin(z — a) + C, then value of
sin(z — «)

(A, B) is (A) ( — sina, cosa) (B) ( — cos e, sina) (C) (sina, cos a) (D)

(cos a, sin )

0N


https://dl.doubtnut.com/l/_gbeLrT79VI0B
https://dl.doubtnut.com/l/_Opb6YzgEmSyL
https://dl.doubtnut.com/l/_wV6ghHuPKHRN
https://dl.doubtnut.com/l/_9oR6fmsvghPq

L= Watch Video Solution )

1 3
268. /d—m is equal to (A) —log tan(2 — _x)‘ + C (B)
cosx — sinx V2 2 8
1 T 1 T s
1 T 3
| Z 2
\/ﬁogtan(z—l— 8)‘—1—0

o Watch Video Solution

2
269. If /{ng—_ll gz = — 3 then ) flz) =z (8)
1+ (logz)? 1+ (g(z))?

f(z) = 2*(C) g(z) = logz (D) g(z) = (logz)

° Watch Video Solution

270 / dz s (1) Slogt (m + = ) te ()

. equaS: _Og an{ — —_— C
cosa:+\/§sinx 2 2 12

Logt (2-2)+ ®  logtan(3 + 1)+ ()

Eog an E ﬁ C Og an 5 E C

loc t (a: 7r>+
ogtan| 5 — 4o c

° Watch Video Solution



https://dl.doubtnut.com/l/_9oR6fmsvghPq
https://dl.doubtnut.com/l/_pMoHj1U83Yd6
https://dl.doubtnut.com/l/_FSmvJzU66yNa
https://dl.doubtnut.com/l/_CjRyMEn8Ozlg

d
271. The value of \/_/ sin xdz is: (1) ¢ + log!cos(:c — %)! + ¢ (2)
sm 4)
T
T — log‘sm(az — Z){ +ec (3)

x + log‘sin(m — %)‘ +c (4)
T
r — log‘cos(w — Z)‘ +c
° Watch Video Solution

2. 15 5 e — tan -1
. If w6+1daz—tan f(w)—gta,n 9(z) + C, then

both
f(z)andg(z) are odd functions f(z) is monotonic function f(z) = g(x)
has no real roots /ﬁgg de = — % + % +c
° Watch Video Solution

1
273. Evaluate: /L dzx

z(1 + ze?)?

° Watch Video Solution



https://dl.doubtnut.com/l/_CjRyMEn8Ozlg
https://dl.doubtnut.com/l/_q3HmguTjxVAe
https://dl.doubtnut.com/l/_8kl9wEAHTGcW
https://dl.doubtnut.com/l/_yusznhstxdpR

o +1) —lo
274. /I 8 (@ ) Be dx is equal to (A)
z(z +1)
1 1 2
~3 {log(m +1)% — Elogac} +log, (z + 1)log, z + C (B)

2
— [(loge(:c +1) — log, x]2 (C) c — % <log<1 + %)) (D) none of these

° Watch Video Solution

275.If /Lda} = f(z)y/1+ €e® — 2logg(xz) + C, then

V14 e®

° Watch Video Solution

4 T —
276. /ge—i_—zeda: = Ax + Blog(gezx — 4) + C, then A= ,
eiL‘ _ e-ﬁ

o Watch Video Solution



https://dl.doubtnut.com/l/_cljRVnGTkA85
https://dl.doubtnut.com/l/_xmuxQHRKIeaL
https://dl.doubtnut.com/l/_ExKDebYHopDc

2
logz — 1 :
277. /{Ogm—z} de is equal to (A —C_4+C (8)

1+ (logz) 1+ 2
logx z
— 0O —2— 100D + O
1+ (logz) (logz)” + 1 1+z
o Watch Video Solution

278. Statement-1: / dz > = = ; + C , Statement-2:

z(1 + logz) 1+ logz

(@)

/(f(w))"f’(fv)dx

Statement-2 is True, Statement-2 is a correct explanation for Statement-1.

+ C,n + 1 # 0 (A) Statement-1 is True,
n+1

(B) Statement-1 is True, Statement-2 is True, Statement-2 is NOT a correct
explanation for Statement-1. (C) Statement-1 is True, Statement-2 is False.

(D) Statement-1 is False, Statement-2 is True.

o Watch Video Solution

279. Statement-1:

3—-2 -1
/ v dr = 2+/4 + 22 — 2% + sin~ ! v +C
Va4 + 2 — 22 NG



https://dl.doubtnut.com/l/_oNLGxGYpm1x0
https://dl.doubtnut.com/l/_eh6OeCiSjyZp
https://dl.doubtnut.com/l/_4gAFz9eZiCaW

dx T a? T
,Statement-2: /— = — (a2 — :1:2) + —sin_l(—> (A)
Va2 — 2 2 2 a
Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1. (B) Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation for Statement-1. (C) Statement-1

is True, Statement-2 is False. (D) Statement-1 is False, Statement-2 is True.

o Watch Video Solution

280. Statement-1: The function F(x) = /sin2 zdx  satisfies
F(z +7) = F(z), VénR  Statement2: sin’(z + ) = sin’z  (A)
Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1. (B) Statement-1 is True, Statement-2 is True,
Statement-2 is NOT a correct explanation for Statement-1. (C) Statement-1

is True, Statement-2 is False. (D) Statement-1 is False, Statement-2 is True.

o Watch Video Solution



https://dl.doubtnut.com/l/_4gAFz9eZiCaW
https://dl.doubtnut.com/l/_pjAlioE5K40s

281. Consider the function F(z) :/ ? dzStatement-1:

(z —1)(z2+1)

F(z) is discontinuous at & = 1 ,Statement-2: Integrand of F(z) is

discontinuous at £ = 1 (A) Statement-1 is True, Statement-2 is True,
Statement-2 is a correct explanation for Statement-1. (B) Statement-1 is
True, Statement-2 is True, Statement-2 is NOT a correct explanation for
Statement-1. (C) Statement-1 is True, Statement-2 is False. (D) Statement-1

is False, Statement-2 is True.

o Watch Video Solution

282. Let a solution y=y(z) of the differential equation
2
zv/z? — 1dy — yr/y* — 1dz = 0 satisfy  y(2) = EStatemenH:

y(z) = sec(sec—l xr — %)Statement-Z: y(z) is given by

1 23

1 — — (A) Statement-1 is True, Statement-2 is True,
Y z z?

Statement-2 is a correct explanation for Statement-1. (B) Statement-1 is
True, Statement-2 is True, Statement-2 is NOT a correct explanation for

Statement-1. (C) Statement-1 is True, Statement-2 is False. (D) Statement-1

is False, Statement-2 is True.


https://dl.doubtnut.com/l/_gscSHJXIqKp2
https://dl.doubtnut.com/l/_GURzK0YbSFEV

o Watch Video Solution

2 2 2
z°—1 o+l z+1

283. Statement-1: /( 5 )e : de =e = 4+ C  Statement-2:

T
/f(:z:)ef(m) dx = f(z) + C (A) Statement-1 is True, Statement-2 is True,
Statement-2 is a correct explanation for Statement-1. (B) Statement-1 is
True, Statement-2 is True, Statement-2 is NOT a correct explanation for
Statement-1. (C) Statement-1 is True, Statement-2 is False. (D) Statement-1

is False, Statement-2 is True.

o Watch Video Solution

T
284. Statement-1: /sin1 zdz + [sin~'+\/1 — 2%dz = 533 +c

Statement-2: sin "'z -+ cos !

T

T = Bl (A) Statement-1 is True, Statement-
2 is True, Statement-2 is a correct explanation for Statement-1. (B)
Statement-1 is True, Statement-2 is True, Statement-2 is NOT a correct

explanation for Statement-1. (C) Statement-1 is True, Statement-2 is False.

(D) Statement-1 is False, Statement-2 is True.

| o Watch Video Solution


https://dl.doubtnut.com/l/_GURzK0YbSFEV
https://dl.doubtnut.com/l/_ffL7JTx4kaWR
https://dl.doubtnut.com/l/_DP7lp6WtxxuC

285. Statement-1: /(sin z)*(z cot x + logsinz)dz = z(sinz)”

2 (f@)) = (F@)" D Lg(a)logf@)] (A

Statement-1 is True, Statement-2 is True, Statement-2 is a correct

Statement-2:

explanation for Statement-1. (B) Statement-1 is True, Statement-2 is True,
Statement-2 is NOT a correct explanation for Statement-1. (C) Statement-1

is True, Statement-2 is False. (D) Statement-1 is False, Statement-2 is True.

o Watch Video Solution

286. The formula in which a certain integral involving some parameters in
connected with some integrals of lower order is called a reduction
formula. In most of the cases the reduction formula is obtained by the
process of integrating by parts. Of course, in some cases the methods of
differentiation are adopted.Now  answer the question:If

. m—2
Im_27n+2:/smm z cos" 2 zdx and


https://dl.doubtnut.com/l/_DP7lp6WtxxuC
https://dl.doubtnut.com/l/_eTtPaylW2zVt
https://dl.doubtnut.com/l/_qyaTE3Wp08DW

sin™ !z cos™ t1
Lnn= — n anr : g f(m,n)In,_2,then f(2,3) is equal to
n+2

AlBlchl
5 ® 570

° Watch Video Solution

287. Let n be a positive integer such that I, = ﬁ"\/(f — z%dzNow

2 L
answer the following question:The value of I is (A) g(a2 —z%)? (B)
L.,

Lo i 202 2\ o) L2 2
3(a x) () 3(a w) (D) 3(a m)

o oo

° Watch Video Solution

288. Let n be a positive integer such that I, = ﬁ”\/az — z%dx Now

2 L
answer the following question: The value of I is (A) —(a® — 2*)? (B)

3
Loy Ly

Lo i 202 2\ o) L2 2
3(a x) () 3(a w) (D) 3(a m)

o e

° Watch Video Solution



https://dl.doubtnut.com/l/_qyaTE3Wp08DW
https://dl.doubtnut.com/l/_5lRlTYkPPOsq
https://dl.doubtnut.com/l/_RpRbkbDiPgYn

289. Integral of the form ﬁwf(m) + f(z)]dx can be evaluated by using

integration by parts in first integral and leaving second integral as it

. . T + sinx tanx

is.Now answer the question: [————dz = (A) =z + ¢ (B)
1+ cosz 2

T tanzx T

53 + ¢ (Q) itanw + ¢ (D) none of these

o Watch Video Solution

290. Integral of the form ﬁwf(m) + f(z)]dx can be evaluated by using
integration by parts in first integral and leaving second integral as it
issNow answer the question:/[warl(log:c +1) +2%|dz = (A

22 4+ ¢B) z® ! + ¢ (C) z° + z + ¢ (D) none of these

o Watch Video Solution

291. Integral of the form /[:cf(x) + f(z)]dx can be evaluated by using

integration by parts in first integral and leaving second integral as it


https://dl.doubtnut.com/l/_bfY2crEgDtDc
https://dl.doubtnut.com/l/_htwRslCcwfrG
https://dl.doubtnut.com/l/_59F9zpHEBomZ

1 4zt
zt+1 (244 1)

is.Now answer the question: der = (A)
2 3

+c(B +c(C
x4 +1 ():1:4—|—1 ()334—|—1

+ ¢ (D) none of these

° Watch Video Solution

292. Let f: R — R be a continuous function and f(z) = f(2z) is true

1
Ve € R.If f(1) = 3, then the value of/ f(f(z))dz is equal to
-1

° Watch Video Solution

dz and f(0) = 0,then f( — 1) = ..

4_
293.1f f(z) = /(9643_7:_ : +11)2

° Watch Video Solution

294, If neN and

n+1

(2:27” + Tx? 4+ 14:5”) e

1
n

dr =

™ 2n n 26n n 14
/(:1; +x —i—a:)(:z: + Txz" + ) n T 1)

,then, k is equal to...

+


https://dl.doubtnut.com/l/_59F9zpHEBomZ
https://dl.doubtnut.com/l/_uU4Gswemowly
https://dl.doubtnut.com/l/_CC8Aun9L79ac
https://dl.doubtnut.com/l/_cU9qhTY0QLuJ

° Watch Video Solution

473 + a4” .
295.If [———dx = log(z* + 4%) + ¢, thene® = ..
/ 4% 4 x4 g( )

° Watch Video Solution

296. if 2= (z+1)s and
/ ° dx:a(i+z—5+z—6+z—7+z—8+£)+c

(1—|—:v)§— 1+ 4 5 6 7 8 )
,then |a| = ..

o Watch Video Solution



https://dl.doubtnut.com/l/_cU9qhTY0QLuJ
https://dl.doubtnut.com/l/_pEz8Xu6lMKqd
https://dl.doubtnut.com/l/_ov8QbfC5JxPl

